
Revision 4: 03.02.2025

17A
4313

Assembly Instruction
Montageanleitung • Instructions de montage

*Compatible with CPA (Collision Prevention Assist) 
   Kompatibel mit  Kollisionswarnsystem 
   compatible avec CPA

*CPA

article no.:
17A4313(S) inox 
17A5313      black steel www.antec-online.de

Mercedes V-Klasse + Vito Md. 2024 
EU-pedestrian protection bar 60 mm with cross pipe 42 mm 
(with camera holder)
EU-Personenschutzbügel 60 mm mit Querrohr 42 mm 
(mit Kamerahalter)
Protection avant, homologuée CEE, 60 mm, traverse 42 mm 
(avec support de caméra)



page / Seite  2
Revision 4: 03.02.2025

M6x25; DIN 912 A2 3x

M8x20; DIN 912 A2 2x

M8x25; DIN 933 A2 2x

M8x25; DIN 933 Zn 4x

Ø4,8x19; DIN 7981 A2 4x

M8; DIN 934 Zn 4x

Ø5,3; DIN 9021 A2 4x

Ø6,4; DIN 9021 A2 3x

Ø8,4; DIN 9021 A2 2x

Geto-Well M6 3x

SW 13 2x

Essenstra 10705 1x

17A4313.1(S) / 17A5313.1
1x11

mounting kit: 17A9313N(S)

article no.:
17A4313(S) inox 
17A5313     black steel

17A5521_R / 17A5522_L
2x22

00552101
2x44

17A5161
1x33

005497
8x66

005498
2x55

Ø9 A2 Ø9 Zn

17A4057(S)
1x99

13 Ø3,5 
Ø12,5

5
6

 
M8(A2): 
21,4 Nm
M8: 
25 Nm
M6:  
2 Nm

006031.1
2x88

006009.1
2x77

Ø20 Ø26



page / Seite  3
Revision 4: 03.02.2025

Step 1 Step 2

3737

3030

132132

2x2x

Step 4

Step 3

2x2x

M8x25; 
DIN 933 Zn

2x2x

2x2x

2x2x

M8; DIN 934 Zn
2x2x

22
66

M8; DIN 934 Zn2x2x

M8x25; 
DIN 933 Zn

66
66

2x2x

2x2x

662x2x

Step 5a

3x3x

Step 5b



page / Seite  4
Revision 4: 03.02.2025

Step 8

22

33
11

M8x20; DIN 912 A2
Ø8,4; DIN 9021 A2

2x2x

Step 6b

3x3x

33

Step 7

17A4057

Step 1 - Step 3

M6x25; DIN 912 A2
Ø6,4; DIN 9021 A2

Step 5c

Step 6a

Ø12,5

3x3x

M6
3x3x

Step 5d 33



Step 9

17A4057

Step 4a - Step 6

Halter bündig montieren!
Montez les supports à fleur! 

Mount holders flush!

Step 11

4x4x

Ø4,8x19; DIN 7981 A2
Ø5,3; DIN 9021 A2

33

44
2x2x

11

page / Seite  5
Revision 4: 03.02.2025

Step 12
44

Step 13 Step 14

2x2x
SW 13

33

Ø3,5 4x4x

Step 10

M8x25; DIN 933 A2
2x2x

11

33

77

2x2x 55

M8: 
25 Nm
M8(A2): 
21,4 Nm
M6:  
2 Nm

99



page / Seite  6
Revision 4: 03.02.2025

Step 16Step 15

77
either
soit

entweder

or
soit 
oder

88

4x

Step 17

77
or

soit 
oder

88
2x2x 2x2x

Step 18

Essentra 10705

without camera / sans caméra / 
ohne Kamera


